bbb tdbotobobogn

gogn gogoboboobbodoooooboboon

godn goobbobbuouooooobon

HEN 1.00/0 00O

goon gooo:0ogogo
goo:ogd

godn gobobbobbooogoobbobboo230d
U

ERERERN 13688839610

ot

ogoobobbecll o ooo,oooon,0titii12400m2

doobobliiombobouooboobou3bngoou,goobogooso,b21

miouoooog3nu4igguuonbuuo,noooogooobonouod

oo, b0ugoboobtoobooon

200uununouoooa

oot bog,gobuoboboobouob.oboood

Jooooobooooooon



21000000

ogdobobbuodooouoobbgoooooobo,bbbgoodooonDie.2

MPa,JO s sMPa,b 00O OOOODOOOMUZ.SODOOOLOOOOOOO

Jo,0dggooobbuoodoMe oM bgggouoonooogd

oodoo,udoonoibnis.?

MPa,U DD OOOOUOUOOoo,0booguooocisi

220000000

Jogdoooboooosommu,gooooboo,0obbogoogooo,ooon

g,bbgogooobbgdoa,goooobo,oooboobbuogooooon

Joodoosmmd8mmd,0udoooddddd4mm

dJoooobuooboob,buobobooboobbobob,buobl

mmUOU0O00000o0oooogoooa,guoooon

23000uunon



00000000000,00003.0mx4.5m,0010mm000000000Gk=
2.5kN/m2,00000Qk=20kN/m20 00 0000000000000 : Gk+Qk=4.5
kN/m00OOOODOOOOOO0OO,000000000000,0000000000
0000,00000000000[yu]l=120000000000(.2Gk+1.4Qk)

Oy ul=6.96kN/m20000050000000,.2000,0000004.29kN/m2 (0
000000)00000000000000,000000000000000000
0000,0000000,00000000000000—00000000000—

ooogoo

DoOoooboooboooooboossSmm,0000dbobOodn(2.5/1.71)x 0.5=0.

NBmm,000001L28mm, 00000000000 2.30mm,000001/15220

oDohbooobooo,bo0bobooobooo,ooobo,0oooobooo(

Jo0.06mm), 000000000, 0000000000,0

Jobodobboobuobobuoobuobobooobooon

ooooon



KHREEN

1guooood

Jodduobobobbogooo,guoobobobbouoooobobo.obbbbouoog
oodoo,guoobbbgdogoobbbuooooobbbuooooooon

D,0oggprepe.o.30noooooogn

20000

oogoboooo,boobuogbobgn

Hooooooooooboboboboooog,oooobooo,oobobooboobooog

oo, ouooboooogd


http://www.tcpdf.org

